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The article deals with finding of the local maximum of a convex continuously differentiable function
in the compact polyhedral set
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f(x) → max, x ∈ X. 	��
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X = {x ∈ Rn|Ax ≤ b, x ≥ 0}�
�# b = (b1, . . . , bm) ∈ Rm� A � ���
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f(x) → max,
n∑

j=1

aijxj + xn+i = bi, i = 1,m,

xj ≥ 0, j = 1, n + m.

	��

1#$#
#
%�� ��-#
#�����%�� 
�!�� ! %���� �%�,�� "��������� $�0������ ��
k, k ≥ 1 $�
&��� %� +"�� -�����+ n !�����0 y = g(x1, x2, . . . , xn) % �#&����
��� � ��"�� x0 = (x0

1, x
0
2, . . . , x

0
n) ��
�� $
#����%��� !� -�
�� �+ 9#� �
�7

�y = g(x0
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Rk−1(�x) =
1

(k)!
[(x1 − x0

1)
∂
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+ · · ·+

(xn − x0
n)

∂
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]kg(x0
1 + θn(x1 − x0

1), . . . , x
0
n + θn(xn − x0
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0 < θn < 1,�x = (x1 − x0
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2, . . . , xn − x0
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g(x) ≈ g(x0) +
n∑

i=1

1

1!

∂g

∂xi

(x0)(xi − x0
i )+

+
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i1=1
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i1
)(xi2 − x0
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g(x) ≈ g(x0) +
n∑

i=1

1
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∂g
∂xi

(x0)(xi − x0
i ).
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P1(x, x0) → max, &4(

Ax = b,
x ≥ 0.
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f(x1, x2, x3) = 6x2
1 + x3

2 + 6x2
3 + 12x1 − 8x2 → max,

x1 + x2 ≤ 2,

x1 + x2 + x3 ≤ 3,

xi ≥ 0, i = 1, 2, 3.
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f(x1, x2, x3) = 6x2
1 + x3

2 + 6x2
3 + 12x1 − 8x2 → max,

x1 + x2 + x4 = 2,

x1 + x2 + x3 + x5 = 3,

xi ≥ 0, i = 1, 2, 3, 4, 5.
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P1(x, x0) = 12x1 + 4x2 − 16 → max,

x1 + x2 + x4 = 2,

x1 + x2 + x3 + x5 = 3,

xi ≥ 0, i = 1, 2, 3, 4, 5.
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P1(x, x1) = 36x1 − 8x2 − 24 → max,

x1 + x2 + x4 = 2,

x1 + x2 + x3 + x5 = 3,

xi ≥ 0, i = 1, 2, 3, 4, 5.
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P1(x, x2) = 36x1 − 8x2 + 36x3 − 54 → max,

x1 + x2 + x4 = 2,

x1 + x2 + x3 + x5 = 3,

xi ≥ 0, i = 1, 2, 3, 4, 5.
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